K HARE Fundamentals of Hydrology (1217 Infiltration) Quiz
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Suppose that rainfall happens with the same intensity of 20 mm-h~! for six hours. Using the
Horton equation,

f®) = fe+ (fo— foe™

calculate the total amount of rainwater that can not infiltrate into a soil layer for 6 hours. The initial
infiltration capacity fp = 15 mm-h~!, the final infiltration capacity f. = 10 mm-h~!, andk=1.0h"L

(Answer) Total amount of infiltration fromt =0tot = T is

fo ' F()dt

T
FT= 2o = T+ 2o~ o)

1
feT+ E(fO — fo)
10 mm/hr X 6 hr + (15— 10)/1.0 mm

65 mm

1

Therefore, total amount of rainfall that cannot infiltrate is 55 mm (= 120 — 65) mm.



